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Solve each compound inequality and graph its solution.
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Algebra 1
Assignment

Name

ID: 1

Date Period

Solve each compound inequality and graph its solution.
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Algebra 1

Assignment

Name

ID: 2

Date Period

Solve each compound inequality and graph its solution.
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Algebra 1

Assignment

Name

ID: 2

Date Period

Solve each compound inequality and graph its solution.
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Algebra 1 Name

ID: 3

Assignment Date Period

Solve each compound inequality and graph its solution.
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Algebra 1 Name

ID: 3

Assignment Date

Solve each compound inequality and graph its solution.
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ID: 4
Algebra 1 Name

Assignment Date Period

Solve each compound inequality and graph its solution.

1) 2n<-20o0rn-5<4 2) n+9>00r-3n>30
\é é ; é ‘I) lIO lll lI2 ll3 ll4 lISI \—13 —12 —;1 —10 —I9 —I8 —I7 —I6 —I5/
m 4) x+4>1orx+8<4
3)E<Oand—3m<21 )
9 8 -7 6 -5 -4 3 2 -1 0
“H—+—+—t+—+—+t++++++++>
-0 -8 -6 -4 =2 0 2
5) x+5>60r-9x >8I X
6) 3x£—120r720
A+ttt tt++>
-12 -10 -8 -6 -4 -2 0 2 4 P R
DRI I I S I B
7) k—2<-5and -4k < 28 8) -3n>-12and 1 +n>3
NI T T D T T S S S
9) -4x>8and x+2>-1 a
) 10)7200r6+a<0
\_I6 _I5 _I4 —I3 —I2 —Ill
-9-8-7-6-5-4-3-2-101 2 3 45
11) -3>v-9>-6 12) n—-6<-7and -7n <28
N T S S N T
a 14) 5Sn>-15andn-4<4
13)g2—10ra—9s—19
S5-4-3-2-101 2 3 456 789
-14 -12 -10 -8 -6 -4 =2 0
n X
15) —2<5<0 16)5210rx+7<7
ARV T ARV I B A
17) 2x>-10and —3x > -27 18) -6x>180rx+9>13

<~

-6 -4 -2 0 2 4 6 8 10 -6-5-4-3-2-101 2 3 45 6 78



Algebra 1 Name

ID: 4

Assignment Date Period

Solve each compound inequality and graph its solution.
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Algebra 1
Assignment

Name

ID: 5
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Solve each compound inequality and graph its solution.
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Algebra 1 Name

ID: 5

Assignment Date Period

Solve each compound inequality and graph its solution.
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Algebra 1
Assignment

Name

ID: 6

Date

Solve each compound inequality and graph its solution.
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Algebra 1
Assignment

Name

ID: 6

Date Period

Solve each compound inequality and graph its solution.
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Algebra 1 Name

ID: 7

Assignment Date Period

Solve each compound inequality and graph its solution.
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14) —>1lora-5<-7
“—+++—+—+—++++> 10
-10 8 -6 4 -2 0 2 4 6 8 P «
6 4 2 0 2 4 6 8 10 12
15) v+6<50rv—-10>-7 16) -5+ x>-40r9+x<3
“~“H—t+—+—+—+—+—t+—+—+++> A+t ++++>
-4 3 2 -1 0 1 2 3 4 5 6 -10 8 -6 -4 -2 0 2 4 6
v 18) x—-6<—-6andx—-22>-7
17) —10+v<—19orZ>2

ST T T T T T T T T
-8 -7 6 5 4 3 -2 -1 0 1 2



Algebra 1
Assignment

Name

ID: 7

Date Period

Solve each compound inequality and graph its solution.
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Algebra 1
Assignment

Name

ID: 8

Date Period

Solve each compound inequality and graph its solution.
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-S5-4-3-2-1012 3 456 789
k
3)§>—1andk+10312
-12 -10 -8 -6 -4 -2 0 2 4
a
5)a+7250r§£—1
-12 -10 -8 -6 -4 -2 0 2

v
7) 523or8v<—56

A\ 4

PRI I
9) a-1<—-4or3+a>12
A

-6 -4 -2 0 2 4 6 8§ 10 12

11) -9x>90o0rx+1>-6

&—1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T 7
-14 -13 -12 -11 -10 -9 -8 -7 -6 -5 -4

13) 1<9+n<3

N
A\ 4

n n
2) —<-lor—2>1
5 10

&—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-8 6 4 -2 0 2 4 6 8 10 12 14
4) 11<m+3<12
&—1 1 1 1 AN
S T T T T T 7
6 7 8 9 10 11 12
6) 4n>—-4orn+9<5
4 1 AN
N T 7
-9 8 -7-6 -5-4-3-2-1201 2 3
8) 5<-3+x<-1
&—1 AN
S T T T T T 7
-3 -2 -1 0 1 2 3

10) a+1>-2o0r-5a>50

b
12) §<2andb+7210

A\ 4

&—1
< T T T T T
2 3 4 5 6 7

14) —12 < -4x <40
“t—t+—t+t++++++t++t+++++>

-12 -10 -8 -6 -4 -2 0 2 4

16) -6<m-9<-1

N
\ 4

N
A\ 4



Algebra 1
Assignment

Name

ID: 8

Date

Solve each compound inequality and graph its solution.

X
1) 7<Oor—8xs—32

e ———— (s
5-4-3-2-101 23456789

k
3) 5>—1 andk+10<12

Ol ) ——— >

a
5)a+7250r53—1
-12 -10 -8 -6 -4 -2 0 2

v
7) 5230r8v<—56

e O——————— @i

-12 -8 —4 0 4 8 12

9) a-1<—-4or3+a>12
Gt @+ @l

-6 -4 -2 0 2 4 6 8§ 10 12

11) -9x>90o0rx+1>-6

—— @}
-14 -13 -12 -11 -10 -9 -8 -7 —6 -5 —4

13) 1<9+n<3

N
A\ 4

17) 8r<—64o0rr—12>7

i ———+—— @l

-12 -8 -4 0 4 8 12

n n
2) —<-lor—2>1
5 10

e O ——————————— @]
-8 6 4 -2 0 2 4 6 8 10 12 14

4) 11<m+3<12

<« } = t t —>
6 7 8 9 10 11 12
6) 4n>—-4orn+9<5
Gl ) — | —|— @iy
-9 8§ -7-6 -5-4-3-2-101 2 3
8) 5<-3+x<-1
< ® . ¢ . ® >
-3 -2 -1 0 1 2 3
10) a+1>-2o0r-5a>50
o ————— jfnin)y
-2 10 -8 -6 -4 2 0
b
12)§<2andb+7210
< ® | >
2 3 4 5 6 7
14) 12 <-4x<40
s ) ——>
-12 -10 -8 -6 -4 -2 0 2 4
16) -6<m-9<-1
\1 2 3 4 5 6 7 8 9 1I0,
18) -9<x-8<-6
< ® o— —>
-3 -2 -1 0 1 2 3 4

Period



Algebra 1
Assignment

Name

ID: 9

Date Period

Solve each compound inequality and graph its solution.

X
1) §>_1 and x-10<0

&—1

A\ 4

<+ttt
-8 6 4 -2 0 2 4 6 8 10 12

) n+7<17and2n>2

y

e IS B m m s e B e S B
0o 1 2 3 4 5 6 7 8 9 10 11

5) 6b<—-480rb—-6>-10

&—1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T 7
~11-10 =9 -8 -7 -6 -5 —4 -3 -2 -1

a
7) §>10ra—3<1

N
A\ 4

9) v+10<4or-5v<15

M S /I T B
ll)x—1>—2and%£1

DRI R A I B A A
13) -9 >3x>-15

D S A T
15) a—1>0o0r8+a<4

-9 -8-7-6-5-4-3-2-101 2 3 4
17) -8 <—4b< 12

—4 -3 -2 -1 0 1 2 3

X
2) §>Oor10+x§8

&—1 1 1 1 1 1 1 AN
S T T T T T T T T 7
-6 -5 4 3 2 -1 0 1 2 3

4) 13<b+6<14
&—1 1 1 AN
N T T T —)
6 7 8 9

n
6) 9n£—54orz>0

H——H———— >

-10 -8 -6 -4 -2 0 2
8) v—-6<-60rv-9>0

-+ttt

-4 2 0 2 4 6 8 10 12

10) 0<n+9<6

&—1 1 1 1 1 1 1 1 N\
< T T T T T T T 7
10 9 -8 -7 -6 -5 -4 -3 -2

n
12) 7200rn—2§—6

9-8-7-6-5-4-3-2-101 2 3 45

14) Tm>-14orm+7<-2
A+t t—t+—++++>

-12 -10 -8 -6 —4 -2 0

b
16) b—3>20rg<—1

4 1 1 1 1 1 1 1
< T T T T T T T T T T
-10 8 -6 4 -2 0 2 4 6 8

A\ 4

a
18) §£00ra+4>9

-5-4-3-2-101 23 45 6 78 9



Algebra 1
Assignment

Name

ID: 9

Date Period

Solve each compound inequality and graph its solution.

X
1) §>—1 and x-10<0

O el ——
8§ 6 4 2 0 2 4 6 8 10 12

) n+7<17and2n>2

e >

01 2 3 4 5 6 7 8 9 10 11

5) 6b<—-480orb—-6>-10

-11-10 9 8 -7 -6 -5 —4 -3 -2 -I

a
7) §>lora—3<1

9) v+10<4or-5v<15
L o —t .

-10 -8 -6 —4 -2 0

X
11) x—1>—2andg31

< oo s — >
-2 -1 0 1 2 3 4 5 6 7 8
13) —-9>3x>-15
“—~SH—+—+— >

8 -7 -6 -5 -4 -3 2 -1 0

15) a—1>0o0r8+a<4

=>

-9 -8-7-6-5-4-3-2-101 2 3 4

17) -8 <-4b <12

( t . ¥ ¥ ¥ ¥ T
-4 -3 -2 -1 0 1 2 3

A\ 4

X
2) §>Oor10+x£8

L - — e —

-6 -5 4 3 2 -1 0 1 2 3

4) 13<b+6<14

< - —
6 7 8 9

n
6) 9n£—54orz>0

Gl Ol

-10 -8 -6 -4 -2 0 2
8) v—-6<-60rv-92>0

i@ ———— - @i

-4 -2 0 2 4 6 8 10 12

10) 0<n+9<6

\ 4

&—1
\ L] T T T T T L]
-10 -9 -8 -7 -6 -5 -4 -3 =2

n
12) 7200rn—2s—6

T e e
-9 -8-7-6-5-4-3-2-101 2 3 45
14) Tm>-14orm+7<-2

Gt @ —————+—— Ol

-12 -10 -8 -6 —4 -2 0

b
16) b—3>20r§<—1

-10 8 -6 4 -2 0 2 4 6 8

a
18) §300ra+4>9

e @) —————( s}
5-4-3-2-101 23456789



Algebra 1 Name

ID: 10

Assignment Date Period

Solve each compound inequality and graph its solution.

1) b+7<10and2b>-8

&—1 1 1 1 1 1 1 1 1 1 N\
S T T T T T T T T T 7
-6 -5 4 3 2 -1 0 1 2 3 4

X
2) x—223or§§0

&—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T T 7
-3 2 -1 0 1 2 3 4 5 6 7 8

3) a+8>8o0ra—-7<-15 v
4) v—4£—6or721

N
\ 4

7) -3m< 12 or 8m < —64
A+ttt t+—+++t++++>

-12 -10 -8 -6 -4 -2 0

N
A\ 4

9) x—10<-9and -5x <40 10) x+5<-30r-3x<12
AR IR TR I I I S I B M T S I T

11) -6x>540rx+72>14 n
) 12)5210rn—8<—7

~——————————+—+ >
12 -8 -4 0 4 8
<~
-2 0 2 4 6 8 10 12
13) -7<x-4<1 14) 2r<16and 9r >0
&—1 1 1 1 1 1 1 1 1 1 AN &—1 1 1 1 1 1 1 1 1 1 1 1 AN
S T T T T T T T T T T 7 S T T T T T T T T T T T 7
-5 4 3 -2 -1 0 1 2 3 4 5 6 3 -2-10 1 2 3 4 5 6 7 8 9
15) 0<r—4<2 16) -9 > 9n > —63
&—1 1 1 1 1 1 1\ &—1 1 1 1 1 1 1 1 1 1 1 1\
S T T T T T 7 S T T T T T T T T T T 7
3 4 5 6 7 8 9 -9 8§ -7 -6 54 -3 -2-10 1 2
n 18) x+8<14and2x >0
17) n+5>80r—<-1 )
9 &—1 1 1 1 1 1 1 1 1 1 1\
S T T T T T T T T T 7
-2 -1 0 1 2 3 4 5 6 7 8
ya N
d

< i i i i i i i i t t
-12-10 -8 -6 4 -2 0 2 4 o6



Algebra 1
Assignment

Name

1D: 10

Date

Solve each compound inequality and graph its solution.

1) b+7<10and2b>-8

S e e e e
-6 -5 4 -3 2 -1 0 1 2 3 4

3) a+8>8o0ra—-7<-15

7) -3m< 12 or 8m < —64

e ——— sl

-12 -10 -8 -6 -4 -2 0

9) x—10<-9and -5x <40

NI G R S
11) -6x>540rx+72> 14
e O——————— @i
-12 -8 -4 0 4 3
13) -7<x-4<1
5 432101 2 3 45 6
15) 0<r—-4<2
& d ® t t >
3 4 5 6 7 8 9
n
17)n+5>80r§<—1
>

-12-10 8 -6 4 -2 0 2 4 6

X
2) x—2230r§£0

e e
-3 -2 -1 0 1 2 3 4 5 6 7 8
v
4) v—4<-60r—2=>1
7
Gttt @ @l
-6 -4 -2 0 2 4 6 g§ 10 12
6)£<2and£2—1
3 6
L B e e S >
8 6 4 2 0 2 4 6
X
8)x—4>—8and1—so
< —>
-7 -6 -5 -4 -3 =2 -1 0 1
10) x+5<-30r-3x<12
Gt ———— Qi)
10 8 -6 -4 -2 0
n
12)5210rn—8<—7
e ———————— @iy
-2 0 2 4 6 8 10 12
14) 2r<16and 9r >0
320101 234567869
16) -9>9n>-63
9 8 7 -6 -5 43210 1 2
18) x+8<14and2x>0
< @ >

-2 -1 0 1 2 3 4 5 6 7 8

Period



